Here are four numbers.

N N N N
Thirty
thousand, two
13,562 ||fousane,two 4 045 13,302
four
AN AN AN J

Which is the greatest number?

Which number rounds to 13,000 to the nearest 1,0007

1 mark

Complete the missing numbers.

400 +
400 +
300 +
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+ 7 =427

+ 17 = 427

+7 =427

1 mark

2 marks

‘



o A submarine is 5 metres below sea level.

A crane lifts the submarine 8 metres upwards.

- N W F N N o

How far above sea level is the submarine now?
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1 mark
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6 friends share some pound coins equally.
They each receive 3 pound coins.
There are 2 pound coins left over.

How much money did they share?
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1 mark

‘



Here are the capacities of three football stadiums.

Football stadium Capacity
Huddersfield Town 24,500
Leeds United 37,366
Halifax Town 14,061

What is the total capacity of all three stadiums?

—

Show
your
method

—

What is the difference between the capacity of Huddersfield Town

and Halifax Town?

1 mark

—

Show
your
method

—
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1 mark

‘



Louisa uses these digit cards to complete a calculation.

2 ) e

Her answer is a multiple of 3 but not a multiple of 6

Complete Louisa’s calculation.

INELE

What is the answer to Louisa’s calculation?

Five lollipops cost the same as three chocolate bars.
One chocolate bar costs 85p.

How much does one lollipop cost?

2 marks
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2 marks
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1 mark
S _L_36
4 12
1 mark
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